

Name: محمد عبد الوهاب Student Number: 0127430

Section: 11:kk... 9:30 Lecturer: ... 1:kk... 2...

(Q1) (6 points): Given the curve

$$C: \vec{r}(t) = (\tan^{-1} t)\hat{i} + (t - \tan^{-1} t)\hat{j} + \left(\frac{1}{\sqrt{2}} \ln(t^2 + 1)\right)\hat{k}, \quad -2 \leq t \leq 6.$$

Find the following:

(a) Find the arc length of C.

$$x = \tan^{-1} t \rightarrow x = \frac{1}{1+t^2} \quad y = t - \tan^{-1} t \rightarrow y = 1 - \frac{1}{1+t^2}$$

$$z = \frac{1}{\sqrt{2}} \ln(t^2 + 1) \rightarrow \frac{1}{\sqrt{2}} \frac{2t}{t^2 + 1}$$

$$\text{Arc} = \int_{-2}^6 \sqrt{\left(\frac{1}{1+t^2}\right)^2 + 1 + \left(\frac{1}{1+t^2}\right)^2 - \frac{2}{1+t^2} + \frac{1}{2} \frac{4t^2}{(t^2+1)^2}} dt = \int_{-2}^6 \sqrt{\frac{2t^2+2}{(1+t^2)^2} + \frac{2+1}{1+t^2}} dt$$

(b) Find the parametric equation of the tangent line to C at the point (0, 0, 0).

$$\vec{v}(t) = \left\langle \frac{1}{1+t^2} \hat{i} + 1 - \frac{1}{1+t^2} \hat{j} + \frac{1}{\sqrt{2}} \frac{2t}{t^2+1} \hat{k} \right\rangle$$

$$x = t$$

$$y = 0$$

$$z = 0$$

(c) Find the curvature of C at (0, 0, 0).

$$\vec{r} = \langle 1, 0, 0 \rangle$$

$$\vec{r}' = \left\langle \frac{-2t}{(1+t^2)^2}, \frac{-2t}{(1+t^2)^2}, \frac{1}{\sqrt{2}} \frac{(2(t^2+1) - 4t^2)}{(t^2+1)^2} \right\rangle$$

$$|\vec{r}' \times \vec{r}| = \begin{vmatrix} 1 & 0 & 0 \\ 0 & 0 & \sqrt{2} \end{vmatrix} = \langle 0, 0, \sqrt{2} \rangle = 2$$

$$|\vec{r}| = 1$$

$$\text{curvature} = \frac{|\vec{r}' \times \vec{r}|}{|\vec{r}|^3} = \frac{2}{1} = 2$$

$\frac{1}{2\sqrt{2}}$

(Q2) (6 points): Evaluate the following if it exists:

$$(a) \lim_{(x,y) \rightarrow (0,0)} \frac{e^{-\frac{1}{\sqrt{x^2+y^2}}}}{\sqrt{x^2+y^2}}$$

$$r = x^2 + y^2$$

$$= \lim_{r \rightarrow 0} \frac{e^{-\frac{1}{\sqrt{r}}}}{\sqrt{r}} \rightarrow \lim_{r \rightarrow 0} \frac{e^{-\frac{1}{\sqrt{r}}} \cdot \frac{1}{2\sqrt{r}}}{\frac{1}{2\sqrt{r}}} = \cancel{8e}$$

$$= \lim_{r \rightarrow 0} 8 e^{-\frac{1}{\sqrt{r}}} = \infty \text{ does not exist}$$

$$(b) \lim_{(x,y) \rightarrow (0,0)} \frac{x^{3/2}y}{x^3 + y^2}$$

1) ~~x-axis~~ $\lim_{x \rightarrow 0} \frac{x^{3/2} \cdot 0}{x^3 + 0} = 0$

$$x = y^{2/3}$$

$$\rightarrow \lim_{y \rightarrow 0} \frac{(y^{2/3})^{3/2} y}{(y^{2/3})^3 + y^2} = \cancel{\frac{2}{3}} \lim_{y \rightarrow 0} \frac{y^2}{y^2 + y^2}$$

$$= \frac{1}{2} \neq 0$$

\lim does not exist

(Q3) (6 points): Let $F = f(\underbrace{x^2 - y^2}_u, \underbrace{y^2 - z^2}_w, \underbrace{z^2 - x^2}_m)$ show that:

$$yz \frac{\partial F}{\partial x} + xz \frac{\partial F}{\partial y} + xy \frac{\partial F}{\partial z} = 0.$$

$$u = (x^2 - y^2, y^2 - z^2, z^2 - x^2)$$

~~$$\frac{dF}{dx} = \frac{dF}{du} \frac{du}{dx} = \frac{dF}{du} \cdot 2x$$~~

~~$$\frac{dF}{dy} = \frac{dF}{du} \frac{du}{dy} + \frac{dF}{dw} \frac{dw}{dy} = \frac{dF}{du} \cdot (-2y) + \frac{dF}{dw} \cdot 2y$$~~

~~$$\frac{dF}{dz} = \frac{dF}{dw} \frac{dw}{dz} + \frac{dF}{dm} \frac{dm}{dz} = \frac{dF}{dw} \cdot 2z + \frac{dF}{dm} \cdot (-2z)$$~~

~~$$yz \frac{dF}{du} \cdot 2x + xz \frac{dF}{dm} \cdot (-2z) + xy \left(\frac{dF}{dw} \cdot 2y + \frac{dF}{du} \cdot (-2y) \right) + z \left(\frac{dF}{dm} \cdot 2z + \frac{dF}{dw} \cdot (-2z) \right)$$~~

$$= 0$$

(Q4) (2 points): Let $f(x, y) = \frac{y}{x+y}$. Find a unit vector \hat{u} for which

$$D_{\hat{u}} f(2, 3) = 0.$$

~~$$D_{\hat{u}} f(2, 3)$$~~
$$D_{\hat{u}} = \nabla f \cdot \hat{u}$$

~~$$\nabla f = \left(\frac{3}{25}, \frac{2}{25} \right)$$~~

$$\hat{u} = \langle 0, 0 \rangle$$

$$f_x = \frac{-y}{(x+y)^2} \rightarrow \frac{-3}{25}$$

$$f_y = \frac{(x+y) - y}{(x+y)^2} \rightarrow \frac{2}{25}$$

(Q5) (4 points): Find all points on the surface $x^2 + y^2 - z^2 = 1$ at which the normal line is parallel to the line through $p(1, -2, 1)$ and $Q(4, 0, -1)$.

$$\vec{PQ} = \langle 3, 2, -2 \rangle$$

$$f = x^2 + y^2 - z^2 - 1$$

$$\nabla f = \langle 2x, 2y, -2z \rangle \rightarrow \text{normal}$$

$$\nabla f \times \vec{PQ} = \begin{vmatrix} 2x & 2y & -2z \\ 3 & 2 & -2 \end{vmatrix}$$

(Q6) (6 points): Find and classify all critical points as local maximum, minimum or saddle point for the function $f(x, y) = 4xy - x^4 - y^4$.

$$f_x = 4y - 4x^3 = 0 \rightarrow y = x^3$$

$$f_y = 4x - 4y^3 = 0$$

$$4x - 4x^9 = 0$$

$$x(1 - x^8) = 0 \rightarrow x = 0, 1, -1$$

~~$x(1-x)$~~

$$(0, 0) \quad (1, 1) \quad (-1, -1)$$

$$f_{xx} = -12x^2$$

$$f_{yy} = -12y^2$$

$$f_{xy} = 4$$

$$D = f_{xx} \cdot f_{yy} - f_{xy}^2$$

$$(0, 0) \rightarrow 0 \cdot 0 - 4 = -4 \text{ (saddle)}$$

$$(1, 1) \rightarrow -12 \cdot 1 - 12 - (4)^2 = 144 - 36 - 16 = 144 - 52 = 92 \text{ (Local max)}$$

$$(-1, -1) \rightarrow -12 \cdot (-1) - 12 - (4)^2 = 144 - 36 - 16 = 144 - 52 = 92 \text{ (Local max)}$$

$$f_{xx} = -12 < 0$$